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DANCE / DRAMA / THEATRE

Paper - 11
SPECIAL INSTRUCTIONS [Use Only For|
1. Candidates are required to answer all the 25 questions in Part-I, which are e
compulsory. They should also select any one from Part-II and Part-IIT and Cifnﬁiﬂy
answer all the 25 questions of that Part only. Each question carries two 2‘“-1
marks. Optional

Choose any|

2. Candidates are required to mark clearly on the OMR Answer Sheet, the one
Part Number which they have selected. QORI

(G)PART - III
PART -1

Common to Dance / Drama / Theatre

1. Which Muslim ruler is known for his valuable contribution to Kathak ?
(A)  Aurangzeb (B) Shahjahan
(C) Humayun (D) Wajid Ali Shah
2. Assertion (A) : Lord Indra introduced Jarjar in the Flag Festival.
Reason (R) : Because he wanted to protect the art of drama.
Codes :
(A) Both (A) and (R) are false. (B) Both (A) and (R) are true.
(C)  (A)is true but (R) is false. (D) (R)is true but (A) is false.
3. Match the items in List-I with List-1I :
List-1 List-11
(a) Purvaranga (i) Lin
(b) Pravritti (i1)) Kaishiki
(¢) Karana (iii) Avataran
(d)  Vritti (iv) Avanti
Codes :

@@ B (© @
A @ @ aGv) (i)
®) O @) @ @)
© @) Gv) @O ()
O Gv) (@) @ @O

4. The term ‘Sajjiva’ is found in
(A)  Angika Abhinaya (B) Vachika Abhinaya
(C)  Aharya Abhinaya (D) Satvika Abhinaya
S. Find the correct sequence.
(A) Has, Shoka, Krodha, Rati (B) Rati, Has, Shoka, Krodha
(C) Krodha, Shoka, Has, Rati (D) Shoka, Krodha, Has, Rati
6. Devdasies in the temples of Orissa were known as
(A) Mabhari (B) Nartaki
(C) Dasi (D) Tevatichchi
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7. Match the items in List-I with List-1I

List-I List-I1
(a) Raja Chakradhar Singh (i) Bangalore
(b) Kala Kshetra (ii)) Assam
(c) Biha (iii)) Chennai

(d) National School of Drama’s Regional (iv) Rajgarh
Resource Centre (NSD-RRC)

Codes :
@ ® © @

A @n @ @ 1)

B) (Gv) (@) G @

© @ @O 3G 31v)

D) (i)  (@v) (i)

8. Only oil lamp is used as lighting source in
(A) Bharatnatyam (B) Kudiyattam
(C) Kathak (D) Kuchipudi

9. What is Paran ?
(A) Bol of Pakhawaj (B) Bol of Tabla
(C) Bol of Kavitta (D) Bol of Parmelu

10. Find the correct sequence :
(A)  Satvati, Arabhati, Kaishiki, Bharati
(B)  Bharati, Satvati, Kaishiki, Arabhati
(C)  Arabhati, Kaishiki, Bharati, Satvati
(D)  Kaishiki, Satvati, Arabhati, Bharati

11. Match items in List-I with those in List-II :

List-1 List-I1
(a) Thang-Ta (i) Tamil Nadu
(b) Kalari Payattu (i1) Orissa
(c) Parikhanda (iii)) Manipur
(d) Silambam (iv) Kerala
Codes :

(@ (b (© @
(A) @) @  3>)  (@Gv)
B) @G Gv) Q@) @
© O aGv) (@) (i)
D) v @ 3G @

12. Which is correctly matched ?
(A) Kalika Bindadin Maharaj and Pair of Dev Pari
(B)  Bhatta Lollata and Tadrupanusandhan
(C) Mugdha and Ashtanayika
(D)  Abhinavgupta and Abhinayadarpan
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13. Assertion (A) : Malvika took the training of Dance under Ganadas as depicted in
‘Malvikagnimitram’.
Reason (R) : Because he was her father.
Codes :
(A)  (A)is true but (R) is false.
(B) Both (A) and (R) are true.
(C) Both (A) and (R) are false.
(D) (R)is true but (A) is false.

14. Match items in List-I with those in List-II :

List-I List-1I
(a) Gombeyatta (i) Orissa
(b) Pavaikuthu (i1)) Andhra Pradesh

(c) Ravan Chhaya (iii) Karnataka
(d) Tollu Bommalu (iv) Kerala
Codes :
@ ® © @
@A) Gy G O G
®) Gv) Gi) G G)
©) Gi) ) Gv (i)
D)  Gv) G @) i)

15. The imaginary zones created on the stage for playing scenes in Sanskrit Theatre are

known as
(A)  Tiraskarini (B) Kaksya
(C) Pataka (D) Yavnika

16. Assertion (A) : Mattavarani in Sanskrit Theatre was an extended acting area.
Reason (R) : Because Mattavarani was situated on the either sides of rangpith.
Codes :

(A) Both (A) and (R) are false.
(B)  (A)is true but (R) is false.
(C) (R)is true but (A) is false.
(D) Both (A) and (R) are true.

17.  Find the correct sequence :
(A)  Angika, Vachika, Aharya, Satvika
(B)  Satvika, Angika, Aharya, Vachika
(C)  Vachika, Aharya, Angika, Satvika
(D)  Angika, Vachika, Satvika, Aharya

18. Short scene in Sanskrit drama which occurs at the beginning of the act is known as

(A)  Vritti (B) Dharmi
(C)  Viskambhaka (D) Garbhank
19.  Mukha Veena is extensively used in
(A) Kathakali (B) Yakshagana
(C) Jatra (D) Therukkoothu
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20. Assertion (A) : The Indian Traditional Theatre forms are the best example of Total
Theatre.

Reason (R) : The traditional theatres of south are music oriented and those of
north are dance oriented.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.
(C)  (A)is true but (R) is false.

(D)  (A)is false but (R) is true.

21.  Traditional Theatre form which uses ‘Bhungala’ as one of the instruments.
(A) Tamasha (B) Jatra
(C) Bhavai (D) Bidesia

Read the passage below and answer the Questions that follow based on your
understanding of the passage :

Kitiyattam is a form of dance drama — Natya — as was the classical Sanskrit,
drama which followed the rules laid down by the Natya$astra. Some would question
the statement that the classical drama was a dance drama form. But how could it be
otherwise when one looks at our own traditional dramatic forms and at the South-East
Asian, Chinese and Japanese dance drama forms which drew their inspiration from
the Indian Tradition in the days of Yore ? Staging of themes from Ramayana and
Mahabharata in Burma, Kampuchea, Thailand and Indonesia in dance drama forms is
well-known as are the staging of stories based on Buddhist legends that travelled to
China, Korea, Japan and which survive to this day in the Peking Opera, the Noh and
the Kabuki plays with many common conventions with the Indian tradition.

22. Which does not match ?
(A) Kautiyattam (B) Bhagavata Mela
(C)  Yakshagana (D) Kuravanji

23.  Elements of Natya not found in dance forms
(A) Kathak (B) Mohiniattam
(C) Chau (D) Mime

24.  Buddhists legends that are not staged in
(A) Bali (B) Philippines
(C)  SriLanka (D) Thailand

25. Classical dramas are dependant on
(A)  Set Design (B) Music and Speech
(C)  Angika Abhinaya (D) Aharya Abhinaya
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PART -1I

DANCE
26.  In which Parva Arjuna trained to Uttara in Dance ?
(A) Vanparva (B) Adiparva
(C) Harivanshaparva (D) Basantparva
27. A famous style of Kathak Dance is
(A) Agra (B) Jaipur (C) Delhi (D) Gwalior

28. Which one of the following is in correct sequence ?
(A)  Adhomukh, Sama, Alolit, Dhut (B) Dhut, Sama, Alolit, Adhomukh
(C)  Alolit, Dhut, Adhomukh, Sama (D) Sama, Adhomukh, Alolit, Dhut

29. Match List-I with List-1I :

List-I List-11
(a) Karun (i) Sthayi bhava
(b) Vismaya (i1)) Rasa
(c) Vepathu (iii) Sanchari bhava
(d) Nirveda (iv) Satvika bhava
Codes :

@ () (d)
A a @  aGv) (i)
®) Gi) (v () )
© @ Gy Gi) (v
D) av)y @) @G 3>)
30. Assertion (A) : It is easier to perform Kathak than Odissi and Bharatnatyam.

Reason (R) : Sampad is the basic standing posture in Kathak Dance.

Codes :

(A)  (A) and (R) both are false. (B) (A)is false and (R) is true.

(C) (A) and (R) both are true. (D) (A)is true and (R) is false.
31. Indicate the odd one out :

(A)  Alokit (B) Pralokit (C) Ullokit (D) Alolit
32. A famous classical dance of Sri Lanka is

(A) Kyandian (B) Kolam (C) Lakhon (D) Kotai
33. Match List-I with List-II :

List-1 List-II

(a) Aharya Abhinaya (i) Shariraj
(b) Vachika Abhinaya (i) Pusta
(c) Satvika Abhinaya (iii) Alap
(d) Angika Abhinaya (iv) Pralaya
Codes :
@ O © @
A G G) G )
B) Gy @) ) @)
© G Gv) G @
D) Gv) G G @O
34. Which one of the following is in correct sequence ?
(A) Birju Maharaj, Achchhan Maharaj, Kalika Prasad Maharaj, Jaikishan Maharaj
(B)  Kalika Prasad Maharaj, Achchhan Maharaj, Birju Maharaj, Jaikishan Maharaj
(C)  Achchhan Maharaj, Kalika Prasad Maharaj, Jaikishan Maharaj, Birju Maharaj
(D) Kalika Prasad Maharaj, Jaikishan Maharaj, Achchhan Maharaj, Birju Maharaj
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35. Assertion (A) : It is said “Nrityam Bhavashrayam”.

Reason (R) : There is no tal and laya in Nrityam.
Codes :
(A)  (A) and (R) both are true. (B) (A)is true and (R) is false.

(C) (A)is false and (R) is true. (D) (A) and (R) both are false.

36. Which one is not correctly matched ?
(A) Sharadatanaya and Bhavaprakashan
(B)  Abhinaya darpana and Ramchandra Gunchandra
(C) Dhananjaya and Dasharoopak
(D)  Sahitya darpana and Vishvanath Kaviraj

37.  How many Rechakas are there according to Natyashashtra ?

(A) Eight (B) Four (C©) Two (D) Five

38. Match List-I with List-II :
List-I List-IT

(a) Karana (i) Madhya

(b) Angahar (i1) Kataksha

(c) Nayika (iii) Bhramar

(d) That (iv) Krantaka

Codes :

@ ® (© @
A o @ @) @)
®) Gy @) Gy @
© G Gv) Q) @)
D) Gv) @) @ aG)

39.  Which one of the following is in correct sequence ?
(A) Dadara, Roopak, Jhaptal, Kaharawa
(B) Dadara, Roopak, Kaharawa, Jhaptal
(C) Kaharawa, Roopak, Dadara, Jhaptal
(D) Roopak, Jhaptal, Kaharawa, Dadara

40. Assertion (A) : All classical dances relate to Indian religion.

Reason (R) : The origin of Kathak Dance is from the temple.
Codes :
(A)  (A) and (R) both are false. (B) (R) and (A) both are true.

(C) (A)istrue and (R) is false. (D) (A)is false and (R) is true.

41.  Which one is not correctly matched ?
(A)  Vishva Bharati and Kolkata
(B)  National Centre for Performing Art and Delhi
(C) Kalamandalam and Kerala
(D) Kalakshetra and Chennai

42. ‘Kathavachan’ is root of
(A) Kathak (B) Kathakali
(C) Odissi (D) Bharatnatyam



3s.

36.

37.

38.

39.

40.

41.

42.

FHAT(A) @ “TA AAHIT FRTTATE |
HROT(R) : AT AA AR AT T A€ |

C AN
(A)  (A) 3R (R) ST T E | (B) (A) Wl 3R (R) T € |
(C) (A) Ted 3R (R) WeI ¢ | (D) (A) 3R (R) AT TATE |
TTH ¥ el BeT i T TeT € 2
(A)  VIRSET 3R T TR (B) AT IYUT 3R THES-T0T5
(C) &= 3R SIETH (D) WfecT YT 3R fergamer shiert
I IR fehe 7 & 2
(A) T3 (B) =R (C) = (D) U=
A1 3R Fel-11 T FRTAT HifeTT :

-1 gE-11
(a) =T (i) men
(b) IFER (ii) =perer
(c) et (i) R
(d) 9= (iv) shw
%2

@ ® (© @
A) @ (i) (i) @Gv)
B) Gy @) @Gy @)
© @G Gv) G @)
D) @Gv) @) @  3>)
FHIA T TARTAE ?

(A) TI_, EYH, AT, Hadl
(B) SR, ©Uh, Hgddl, STl
(C) e, ®Uh, TR, AU
(D) &, YA, FEIT, T

FUT(A) : T IMEAT T B IRAT o F T E |
FROT(R) : FIF I Bl SAMTAGIT T EE & |

&<

(A)  (A) IR (R) I TATE | (B) (R) 3R (A) S T E |
(C) (A)TI AR (R) T € | (D) (A) TeAd 3R (R) TF € |
70 9 I T ool TEl T e 2

(A) Towaurer iR Hretepmar
(B) =¥ WX ®R WEIET 31 3R feeedt

(C) HATHUSHAR 3R HA

(D)  SHome 3R ==

FHATATE T4 9 TR ol & 2

(A) IR (B) hehedl
(C)  efifedr (D) wRaRad



43.  Which one of the following is in correct sequence ?
(A) Marga, Kala, Kriya, Anga (B) Kala, Marga, Kriya, Anga
(C) Kriya, Anga, Marga, Kala (D) Anga, Marga, Kriya, Kala

44. Match List-I with List-II :

List-1 List-11
(a) Uttar Pradesh (i) Bhavai
(b) Chhattisgarh (i1) Nautanki
(c) Maharashtra (iii)) Karma
(d) Gujarat (iv) Lavani
Codes :

@ G © @
(A) (@) Gv) @ O
B) Gv) (@) G @
© G Gi) Gy @)
D  ® (i) i) @[v)

45, Assertion (A) : Natyashashtra is a reference text of all classical dances.
Reason (R) : Natyashashtra has been written mainly for Natya.
Codes :

(A) (A)is true and (R) is false. (B) (A) and (R) both are true.
(C) (A)is false and (R) is true. (D) (A) and (R) both are false.

46. In which State Indira Kala Sangeet University is ?

(A) Madhya Pradesh (B) Uttar Pradesh

(C) Uttaranchal (D) Chhattisgarh
47. How many Adhikaras are in ‘Bhavaprakashan’ of Shardatanaya ?

(A) Five (B) Seven

(C) Nine (D) Ten
48. Match List-I with List-II :

List-1 List-I1

(a) Marga (i) Khanda

(b) Yati (i1) Sashabda

(¢) Jati (iii) Sama

(d) Kiriya (iv) Simhanand tal

Codes :

@ B ©
A) (v) @) @G 3
®) Gi) (v () )
© @O @ @) 3Gv)
(D) Gy @)  av) @
49, Which one of the following is in correct sequence ?
(A) Koormavatar, Varahavatar, Narsimhavatar, Matsyavatar
(B) Matsyavatar, Varahavatar, Koormavatar, Narsimhavatar
(C) Matsyavatar, Koormavatar, Varahavatar, Narsimhavatar
(D) Narsimhavatar, Varahavatar, Koormavatar, Matsyavatar

50. Assertion (A) : Mughal costume is also worn in Kathak Dance.

Reason (R) : All classical dances have evolved from Darbars.
Codes :
(A) (A) and (R) both are true (B) (A)is true and (R) is false.

(C) (R)istrue and (A) is false. (D) (A) and (R) both are false.



43. THISTWHATIE?

(A) O, e, forar, 3igT (B) hIet, AT, TR, 3ig

(C)  Toram, sig, 9T, et (D) 3fgm, uﬁ, fomam, hret
44. _1 3R G=-11 i

o !ﬁ'ﬁfﬁ i gqE-11

(a) SR (i) o=

(b) AT (i)

(c) WENTE (iii) T

(d) R (iv)

T

@ O © @

(A) (@) (Gv) @@ @

B) Gv) (@) G @

© G G (v Q)

D) O (i) @) @3v)
45. HAT(A) : IS G IS T H AT U E |
HROT(R) : IS Goidl: A1ed o foru forar man g |

(A)  (A) Tl 3T (R) T € | (B) (A) 3R (R) FAITEIE I
(C) (A) Tl 3R (R) W& € | (D) (A) 3R (R) T TAd & |
46. = ol Giid fovatammed frg uid a8 2
(A)  TeTwRR (B) TR
(C) == (D) BTG
47. ?n{qld-«iﬁ?‘wquqﬂ?lﬂ o fepc 3PR & 2
(A) O (B)
(C) (D) =9
48. -1 3R Ge-1T st FRTET HIfT
o qﬁﬁ:ﬁ ge-11
(a) T () @Us
(b) = () @
(c) ffa (iii) &=
(d) fmar (iv) e am
% :

o

@ ® (© @
A) vy (@) @G 3
B) Gy Gv) 3G @)
© @ (i) (i) @Gv)
D) G 3G G @
49. TEHIDAAIHATIE?
(A) FHEAR, TRETTAR, RIGETTIR, TRATEAR
(B) TAEAR, TETEAR, FHEAR, TRITETEAR
(C) HHEAR, ej;l-ﬁoldl{, IR,
(D) TRIEEEAR, sREEAR, FHEIR, TTEAR

50. ®HAT(A) : FIYF TT Y GCT ANYET A GeA ST E |
W((R)) : mﬁ%%ﬂwﬁﬁ%ﬁﬁgﬁl

% :
(A) (A) X (R) S FEE | (B) (A) Wl 3R (R) T & |
(C) (R) W3R (A) T & | (D) (A) W(R)ﬁ%ﬂ?ﬁ% |



PART -1II
DRAMA/THEATRE

26. Match items in List-I with those in List-II :

List-1 List-I1
(a) Malati Madhav (i) Bodhayan
(b) Malvikagnimitra (ii)) Bhavbhuti
(c) Bhagvadajjukiyam (iii) Bhas
(d) Pratigya Yaugandhrayan (iv) Kalidas
Codes :

@ ® © @@
(A) @Gv) (@)  G) @
®) G aGv) @ (i)
© G G Gy O
® O aGv) ) (i)

27. A wordless song using sounds of svara or rhythm beats in Sanskrit Theatre is known

as
(A) Cari (B) Hava
(C) Apati (D) Dhruva

28.  Find the correct sequence of the following Arthaprakritis :
(A) Beej, Bindu, Karya, Pataka, Prakari
(B)  Beej, Bindu, Pataka, Prakari, Karya
(C)  Bindu, Pataka, Prakari, Karya, Beej
(D) Karya, Beej, Bindu, Prakari, Pataka

29. Assertion (A) : For the Western Scholars like Keith, Sanskrit Drama was more of
dramatic poetry than drama proper.

Reason (R) : Sanskrit Dramas were meant for reading only.
Codes :

(A) Both (A) and (R) are true.

(B)  (A)is true but (R) is false.

(C) Both (A) and (R) are false.

(D)  (A)is false but (R) is true.

30. Kannada Play ‘Jokumar Swami’ is written by
(A)  Girish Karnard (B) Chandrashekhar Kambar
(C)  Shivprakash (D) Ananta Krishnamurthy

31. Traditional theatre form of Kerala which focuses on Christian concerns
(A) Nandi Natakam (B) Golla Kalapam
(C) Bhama Kalapam (D) Cavittu Natakam



T - 111

I/ T
26. G-I 1 gel-1T § GHferd ity :
-1 gE-11
(a) Yo AT () =
(b) HATSRITAET (i) wEyfa
(c) weRITSSad (iii) 9™
(d) = ArTeRTET (iv) iR

e :
@ ® © @
(A) Gv) @) @G @
B) @) Gv) (@) (D)
© G G @G @
D)y @©  Gv) @) ()
27.  U&hd TTHT I U Vs @ TMid STH TR & &a( a1 o dlell bl ST 2l &
(A) TR (B) @™
(C) et D) ¥

28,  TeAfcIRad 31ef Wehiaa o Wel ShH o TE
(A) i, T, S, TR, WeRt
(B) i, o, TeRt, VR, I
(C) o, et weRdt, T, st
(D) M, &, o5, weRt, TR

29. ofmeE (A) ;U fagHl - S R i - o foTu Wehd Areeh ardtaeh e i 3TdRT
AT H1eT 3T T |
%HIT (R) ;TR A1 I helet TG o [o1T foTa T o |
HE
(A)  (A) T (R) S FEIE |
(B) (A) e, o (R) ToId ¥ |
(C) (A)TaT(R) I T8 |
(D) (A) T E, R (R) T&TE |

30. TS A S HAR WH H AGh B € ?

(A) e rs (B) w59ER &er

(C)  TeravemrsT (D) 3Fd FoH
31. 3T I URHING (THE el o1k 3hs O $9TE AR 9 S[S Tee] & &

(A) 6 A (B) TiieeT elmas

(C) T eI (D)  ifer ATeHA



32. Match the items in List-I with those in List-II :

List-I List-IT
(a) Invisible Theatre (i) Badal Sircar
(b) Environmental Theatre  (ii) Grotowski
(c) Poor Theatre (iii) Richard Schechner
(d) Third Theatre (iv) Augusto Boal

Codes :

(a) ® © (@
A) G @) G @3Gv)
B) Gv) G G @)
© Gv) @) G @
D) Gy G G 3Gv)

33. The model of Epic Theatre was first introduced by
(A)  Erwin Piscator (B) Bertolt Brecht
(C)  Luigi Pirandello (D) Joan Littlewood

34. Which is not correctly matched ?
(A)  Wings and Borders
(B)  Tormentor and Teazer
(C) Cyclorama and Flood
(D)  Act Curtain and Borders

35. Find the correct sequence of following Sandhis :
(A) Nirvahana, Vimarsa, Garbha, Pratimukh, Mukh
(B)  Vimarsa, Garbha, Nirvahana, Mukh, Pratimukh
(C)  Mukh, Pratimukh, Garbha, Vimarsa, Nirvahana
(D)  Garbha, Vimarsa, Nirvahana, Pratimukh, Mukh

36. Assertion (A) : The Tragic Hero is required to evoke the feelings of Pity and
Anger in the spectator.

Reason (R) . Catharsis is the function of the tragedy.

Codes :

(A) Both (A) and (R) are true.

(B)  (A)is true but (R) is false.

(C)  (A)is false but (R) is true.

(D) Both (A) and (R) are true.

37. Match the items in List-I with those in List-II :

List-I List-II
(a) Uddhwasta Dharmashala (i)  Satish Alekar
(b) Gruhasta (ii)) Mahesh Elkunchwar
(c) Mahanirvan (iii)) G.P. Deshpande
(d) Holi (iv) Vijay Tendulkar
Codes :

@ (b (¢ @
Ay @Gv) @ (@) (i)
B) @) Gv) @) ()
© O @ 3> 3Gv)
D) G G Gy O
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37.

IS -1 9 :
gﬁﬁlqulﬁn gufera shifsTg

. ge-11
(a) gATaTSTeRT R (i) EA EHR
(b) THEETHEH AT (i)  TiiceEht
(©) TR FEX (iii) RwrE weR
(d) o tR= (iv) ST St
e :

@ b (© @
A) @) 3G @ @Gv)
B) @Gv) @) G @)
© (@Gv) G G @
D) Gi)y G @ Gv)
Tk Toie o Higet Feved T qd fohar ?
(A) e faehex (B) e s
(C) o fRigett (D) S oA gs

frfrfea g @ P AT e € 2
(A) forg uve Sy

(B)  2THUR UUE IR

(C) HISHRIRMI UTS Fels
(D) UF A UUE Sied

%%ﬂ?amﬁ‘emm%l

(A) (A)H?JT(R I AT E |
(B) (A) @&l (R) W% |
©) (A)w% (R) T

(D) (A) TN (R) S Tl € |

Eal 9
Teft-1 @11%& 11 | G shifeTy : i

(a) SR HITEAT () T AR
(b) ToE (i) T ToHaaR
(c) HeraToT (iii) ST <9I
(d) @l (iv)  forore eiger
B

%RUT (R)
HE:

@ (b (¢ @
Ay @Gv) @ (@) (i)
B) @) Gv) @) ()
© O @ 3> 3Gv)
O @y @ G @O



38. Which one of the following is not correctly matched ?
(A)  Voice and Speech
(B) Movement and Gesture
(C)  Sound and Sight
(D) Hasta and Mudra

39.  Which of the following is based on the masks ?
(A) Ramleela (B) Krishnattam
(C)  Yakshagan (D) Chhau

40. Assertion (A) : Modern Indian Theatre has creatively used the elements of

Traditional Theatre.

Reason (R) : All the Modern Actors are proficient in Dance, Music and Martial
Arts.

Codes :

(A) Both (A) and (R) are true.

(B)  (A)is true but (R) is false.

(C)  (A)is false but (R) is true.

(D) Both (A) and (R) are false.

41. Find the correct sequence :
(A)  Aeschylus, Shakespeare, Moliere, Ibsen
(B) Ibsen, Shakespeare, Aeschylus, Moliere
(C)  Aeschylus, Moliere, Shakespeare, Ibsen
(D)  Shakespeare, Aeschylus, Moliere, Ibsen

42.  The form of Drama which is exclusively based on songs

(A) Ballet (B) Melodrama
(C)  Lyrical Drama (D) Opera
43.  Find out the correct combination according to the code Bhasa wrote the plays
1) Madhyam Vyayog (ii) Abhishek
(iii)  Panchratra (iv) Ratnavali
Codes :

(A) (i), (ii) and (iii) are correct.
(B) (i), (i1) and (iv) are correct.
(C) (i), (ii1) and (iv) are correct.
(D) (i), (iii) and (iv) are correct.

44. Assertion (A) : Stanislavsky believed in Actor’s identification with characters.
Reason (R) . He was trained in Epic Theatre.
Codes :
(A) Both (A) and (R) are false.
(B)  (A)is true but (R) is false.
(C)  (A)is false but (R) is true.
(D) Both (A) and (R) are true.



38. oAt o 9 o @1 gaford Téi g 2

(A) =TEE AR T
(B) HaHe 3R &R
(C) HISUE 3R AEe
(D) & SR
39. FrefeiEd | @ SiF 91 qEiel W SR & ?
(A) e (B) FwIeiEH
(C) T (D) BB
40. AfMHUF (A) :  3MYHF TR TTHT B URTRE TTH & il T GorTcHsh FanT forat
(3
BIROT(R) ;T SMfAH AR o, T T oTeTeh-hell § FA0T &1 © |
FE

(A)  (A) T (R) S FEIE |
(B) (A) W, fhg (R) T € |
(C) (AT, fhg (R) T & |
(D) (A) T (R) I TATE |

41. T HH S T ;
(A) THEAH, JFEETR, MR, 387
(B) TG, ISR, THEAH, HIfeR
(C) UHREH, HifeRR, TRIMeR, o8
(D) VIfFRR, TR, TR, 36

42.  UREUYT TG R STEIRA A2 @WEq

(A) ¥ (B) Helrgm
(C) foiRepet g (D) 3T
43. 99 g feAlad T1eehl i i G Hais @l Tl ¢ ? 34 IS & 3R W adelrgy |
()  TEH ™ (i) 3TTEs
(i) =R (iv) Tt
e

(A) (), (ii) T (iii) T |
B) (i), (ii) T (iv) G & |
(C) (), (iii) 1 (iv) W& |
(D) (i), (iii) T (iv) T & |
44, AMBHUF (A) :  TAEATEER U & AT AT & AT § fogard T o |
HROT(R)  : o U AR H ORIRIa & |
BT
(A) (AT (R) T & |
(B) (A)WIE, fFg (R) T € |
(C) (A) T g, g (R) TETE |
(D) (A) T (R) S FIE |



45.  Madhu Rye, famous for T.V. Serial ‘Mr. Yogi’, is a renowned playwright of
(A) Bengali Theatre
(B)  Gujarati Theatre
(C) Hindi Theatre
(D)  Marathi Theatre

46. Find the correct sequence :
(A) Stanislavsky, Meyerhold, Grotowski, Barba
(B) Barba, Meyerhold, Grotowski, Stanislavsky
(C)  Grotowski, Barba, Meyerhold, Stanislavsky
(D) Meyerhold, Stanislavsky, Barba, Grotowski

47. Assertion (A) : IPTA theatre movement is an important land mark in Modern

Indian Theatre.

Reason (R) : They wanted to reject the tradition of Sanskrit and folk theatre.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C)  (A)is true but (R) is false.

(D)  (A)is false but (R) is true.

48. Match items in List-I with those in List-II :

List-1 List-11
(a) Jabbar Patel (i) Wada Chirebandi
(b) Vijaya Mehta (i) Kallol
(c) Utpal Dutt (iii)) Hayvadana
(d) B.V.Karanth (iv) Ghasiram Kotwal
Codes :

@ ®» © @@
A @ @ @ v
®) v @ @@ (i)
© © @ (@) @)
@O) G aGv) @@ (i)

49. ‘Jin Lahore Nahi Dekhya Vo Janmai Nahin’ a famous play directed Habib Tanvir was
written by
(A) Satyadev Dubey
(B)  Asghar Vazahat
(C) Bhanu Bharti
(D) Waman Kendre

50.  The size of ‘Vikrista Madhyam Theatre’ as depicted in Natyasastra is

(A) 108 x 64 (B) 64 x 32
(C) 16x32 (D) 32x32



45. Ty - % A uRETtes R At & fou whafs faedt — fefefad & @ g T g
TS GresT ATeHER € 2

(A) ST ST
(B) TSR TTH
(C) R<tama
(D) TRIE T

46. TTATARGT | § i T SR Tel € ?
(A)  TAATSRSRT, HAREICE, Tiareh, sTe
(B) M, RGeS, Uidiekh!, Tl-ReTeieh]
(C) TR, ST, HERES, Tl -eTTerh

(D) TIREITS, TAEATREh, STal, Tiaieh]

47.  aAfumeE (A) @ T T SARIEH M R TTHT 1 U Hewaqul 9T foe € |
HROT(R) ;o G T ieh TTHT ol TREORT Tl 3REhR heT et o |
CAER
(A)  (A) T (R) S FEIE |
(B) (A) TN (R) I T & |
(C) (AW, fRg (R) T & |
(D) (A) T, fhg (R) T & |

48. -1 1 G-I | GATAT il :

-1 -1
(a) SR 9o () =mer fereET
(b) foora dear (i) oot
(c) 3SUATT (iii) BgEET
(d) S PR (iv) ETERM™ e
T

@ o © @
(A @Gi) @ G @(v)
B) (v @ G (i)
© @ 3G G 3Gv)
D) Gy Gv) @G (i)
49,  weiE oER gRT R Uiy Tesh R e el 3 ot SIS TRl ol ofEeh i & ?

(A) WA
(B)  3T@R asTed
(C) i et
(D) IFAFS
50.  TeERTE | KU U FeRr % AR fage Team et 1 SRR [T BT e ?
(A) 108 x 64 (B) 64x32
) 16x32 (D) 32x32
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